m

mum with a number line, and then give the
anEwer.

V.=~4-2 23~ (-4

-a-»o-u;uz 4:.’ -8-6-4-2 0 2 4 &6 8

Subtract.

3. -3 -8 4 -5 - (~13) 8. 16 ~- 24 8. 7 - {(~2%)

7.6 - 21 8. 28 - (~7) 9. —12 - (=11)  10. 28 - (~15)

11.19 - (-19) 12. —-11 — 16 13. =23~ (~23) 14. -14 = (=15)> L |

Evaluate the expression v — w for each set of values.
1. v= 18, w= ~12 ve -14, w=7 17.ve =14 w= - 14

m— ey, “nfe e e e

18. v= -9 w= =21 1. v= 16, w= 29 20. v= 17, w= 26

= = F— e e— et T S

21. The low temperature of — 16°F broke a previous record low of
- 11°F. How much lower than the record was the temperature?

nmmdamuwwmmw The roots reach
mzzwmmmm What is the difference between
the top of the tree and the bottom of the roots?

23. You lew $5¢, then Spend £35 . Wrte an up&e;&';‘
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